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ANSWER KEY - 2™ Term Exam 2019 Std 9 CHEMISTR

1. Dimitri lvanovich Mendeleev 2. Iron 3. J.J. Thomson 4. HBr 5. MgO

6. (a) Mg?* ion (b) Mg,(PO,),

7.7.(a)3 (b) H,O* (Hydronium ion)
8.(a) A
(b) When Non-metals take part in chemical reactions they receive electrons to form
negative ions
(b)Nature of the reactant
(b) F

Any 4 From 11 to 15 (3 mark for each

11.(a) B (b) Base
(c) The nature of the soil is a factor that influences the growth of crops . Usually ,
soil having the pH in the range 6.5 to 7.2 is suitable for majority of crops . So it

is necessary to determine the pH value of soil before farming.
12.

A B C

Do not take part in chemical
reactions

Noble gases Elements of 18" group

Kept as separate row below

. Known as rare earths
the periodic table

Lanthanoids

Transition elements | Elements of groups 3 to 12 Gives coloured compounds

13.

(a) PROCEDURE :- Take equal volume of dilute HCI with same concentration in two
test tubes . Simultaneously add 2 mg Zinc pieces and 2 mg Zinc powder into the test
tubes 1 and 2 respectively . Observe the changes and record your observations .

(b) When the solid substances are added in powdered form the surface area of
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reactants increases which causes to increase the number of their collisions and results

in the increase in the rate of chemical reaction .

14.

(a) The outermost shell of Oxygen contains 6 electrons . So it requires 2 electrons to
complete octet electron configuration in the valence shell and to attain stability .
Therefore Oxygen usually shows the valency 2 .

+
a

® Na + .o» + Nd —> I:Naj E’é{lz_ [N]

15.
(a) The gases like SO, , NO, emitted from factories , motor vehicles and
thermoelectric power stations into air dissolve in rain water and causes acid rain
Plants lose their ability to produce carbohydrates through
photosynthesis as their leaves are destroyed.

Severe acid rain destroys the greenery of a region.

The acidic nature of water causes the death and destruction
of fish and corals.

16. (a) Basic nature

(b) Acidic HCI reacts with basic NaOH to form neutral salt and water . As the
concentration of base decreases the pink colour fades and finally disappears due to
neutralisation reaction .

(c) NaOH + HCI — NaCl + H,0

17. (a) As we move down in a group ionisation energy decreases .Because as the size
of atom increases down in a group ,the attraction of the nucleus on valence electrons
decreases .
(b) ,,Cl . As we move from left to right along a period the size of atom decreases and
hence the ionisation energy increases . ;,Na, ,.P and ,,Cl belong to the groups 1,
16 and 17 respectively .
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18. (a) In the heated test tube (b) Sulphur
(c) When temperature increases the number of molecules acquired the threshold
energy increases which causes to increase the number of effective collisions .
19.(a)C- 14 (b) Neutron
(c) lodine - 131 :- Used in medical field for diagnosis and treatment of ailments like
cancer and tumour .
Uranium - 235 :- Used as fuel in atomic reactors .

(a) Dobereiner (b) Moseley
(c) Lavoisier (d) Newlands
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